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GROUP - A
~ (VIBGYOR)
- (NEW SYLLABUS)

1. Give brief aﬁswers to any five of the following : : 1x5=5
(@) Where did the new vicar come from ? 1
(b) Who is Albert Edward ? | 1
(c) Who are called ‘colour bli_nd" ? - : 1I
'(d) Who lacks automobile sensibility 7 : : ' o]
(¢) How far is Panagarh ? ' 1
() What is the full name of Mrigangko Babu? 1
(¢) What did Della buy for her husband as the gift of Magi? 1
(h) Where did Della sell her long hair ? e 1
(i) Why does Robert Lynd read Emerson ? 1
() Who is Epictetus ? | 1
An.swer any five of the following : : 2x5=10
(1) What impression did the Vicar have about the new vicar? 2
() How did the Verger regard his official dress ? 2
(c) What did R. K. Narayan do to turn his energies again to write
stories ? 2
(d) What made R. K. Narayan fear that he would éoon become
bankrupt ? - % | 2
Sl [2]

(¢) What were the suspicions of Mrigangko Babu ? 2

) Why did Mrigangko Babu never consult the almanac before

travelling anywhere ? : . AL
(¢) What did Jim do to get a gift for Della ? 2
() Why was Della sobbing and sniffling ? R

(i) What h'appened to Robert Lynd even after reading Marcus
Aurelius and Emerson ? _ 2

(7))  What happened to the thief who stole Epictetus’ iron lamp ?
; ; 2
Give brief answers to any three of the following : dx5=12

(@) Describe the circumstances under which the Verger had to lose
his job in St. Peter’s Church. 4

(b) How _did the auto-pundits react after seeing R. K. Narayan's
‘imported car’ ? - -

(c) Why did Abhiram leave the house of Mrigangko Babu ? 4

(d) How did Della save the pennies of the sixty cents of her total
savings ? : 4

(e) Examine Robert Lynd’s quest for instant wisdom. 4
Explain with reference to the context any two of the following
excerpts : 3 Lol

(@) “Since my car was of special pedigree, it was unadvisable to
allow any ordinary workshop to open the bonnet.” 4

(b) “The elite shop could produce one if I was prepared to pay two
thousand for the piece.” 4
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(c) “It was the end of January. All the crops had been removed

from the fields.” : : B
(d) “When Della reached homel, her intoxication gave Way a little to
prudence and reason.” 4
54 Give-brief answers to any five of the following : 1x5=5
(1) Who is the poet of the poem ‘Sita’ ?
() ° How many children were listening to the s’t;)ry of Sita ? 1
() How many hills does the brook run past ? 1
(d) Name the birds that fly above the brook. . | 1
() Who is Oz_ymandiasJ? | 1
() What is thé meaning of thé word “visage” ? 1
(¢) What kind of a p-oem ‘Ozymandias of Egypt’ is ? 1
(h) Where did the knight see a lily ? Vi 1
| (i) Where did the lady take fhe knight ? 1
(i) Whose song lures the maiden ? | i
6. Answer aﬁy four of the following : 2-><4=8
(1) Why are the children weeping in the poem ‘Sita’ ? )
®) What is meant by “shingly bars” ? I )
() What were the words that were inscribed on the pedestal of the
statue of Ozymandias ? -
(d) What did the knight see in his dream on the hillside ? 2
(¢) What will the maiden’s mother and bI'Other do if she is late in
reaching home ? ' >
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7. Answer any three of the following : 4x3=12

Explain how the poem ‘Sita’ reflects the poet’s deep love for

- nature. - 4

- () ;
(©)

(d)
(e)

What is the refrain in the poem ‘The Brook”? Bring out the
profundity in it. 4

With what are ‘the shadows of evening’ compared in the poem
‘Village Song’ ? ' | 4

What did the traveller from the antique land tell the poet? 4

What is the appearance of the lady ? ]

8.  Explain with reference to the context, any one of the following

excerpts : 5x1=5

(a)

(b)

(c)
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It is an old, old story, and the lay
Which has evoked sad Sita from the past
[s by a mother sung... “Tis hushed at last

And melts the picture from their sight away.

I chatter, chatter, as I flow
To join the brimming river,
For men may come and men may go,

But I go on forever.

She found me roots of relish sweet,
And honey wild, and manna-dew,
And sure in language strange she said—

“I love thee true”.
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' >ropri i my five of the following :
GROUP - B ‘ | » 10. Add appropriate q?eshons tag to any five of the g

| 1x5=5
(OLD & NEW SYLLABUS) | | 1
' ) (e g today. \
' ' : 7) Everything has gone wrong
9. Change any fme of the sentences given below as per instruction given, @
without changing their meaning : a5tz B ot Mk :
(1) None but Anita can do the sum. (Change into affirmative) '. (©) Close the S _ 1
5 i | |
e (d) You like a lot of sugar in your milk. 1
(b) All of them welcomed the suggestion enthulsiash'cally. ' | : | :
(Change into passive) . () Don't go there. |
1 I .
: () Sachin shouldn’t have played that shot. 1
(¢) Doesn’t he live with his parents ? (Change.into assertive) | : : y
| I (g) The house needs immediate renovation.
. : ik _ :
(d) The strawberry pie was eaten by me. (Change into active) ; i (h) No man is immortal.
1l
(¢) As soon as he saw me, he began to weep : 11. Fill any five of the following blanks with suitable preposition; :5 Y
e / reep. _ : SEe
(Change into negative) :
1 -
(@) I can see the boat : the picture. T
() This is not the correct way of answering the question, fl % fLien s :
(Changeé into fnterrognﬁw) . (v) The woman 1S sitting g
| : (c) The cup is her hand. 1
Everybody must admit that she is a good singer. . _ ROl s ;
(8) v/ (Change into negative) (@) Iam anglous o uither
_ 7 - :
(e) Be true your word.
(h) Let the game be finished. (Change into (ICHZ?? el g Bl e :
‘ 7 Contd.
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12

13

(¢) Rini has recovered her illness. ; i

(I)  You may rely my word. 1

Rewrite any fit I I I
e any five of the following sentences using the verbs given in

brackets in their corrgct forms : | 1%5=5
(a) Ice (float) on water. . | 1
(b) He (go) home when he met him. _ 1
(c) 1 want to go 'for a walk, but I-(not finish) my work yet. 1
(d) Perhaps it (rain) yestérdlay. 1
(e) All the students (leave) when I reached the school. 1
() You (sleep) for threé hours now. 1
(g) I asked if she (see) him before. 1
(I) We (work) on a new project. : 1

Read the passage given below and answer the questions that folloyw -

Green tea has been credited for centuries with significant medicina]
properties. Recent studies have confirmed its many benefits, and haye
attested to the importance of this ancient plant in the IOngvity o
those who drink it often.

Originally from China, where} it has been consumed for millennia
green tea didn’t make its way to the rest of the world ungjj just a fev\;

centuries ago. Unlike other teas, and as a result of being air-dried

32T ALTE [8]

without fermentation, it retains its active elements even after being
dried and crumbled. It offers meaningful health benefits such
as : (i) controlling cholesterol, (ii) ‘lowering blood sugar levels,
(iii) improving circulation, (iv) protection against the flu, (v) promoting
bone health, etc.

White tea, with its high concentration of natural nutrients, may be
even more effective against aging. In fact, it is considered to be the
natural product with the greatest anti-oxidant power in the world —
to the extent that one cup of white tea might pack the same punch
as about-a dozen glasses of orange juice. Therefore, drinking green or
white tea every day can help us reduce the free radicals in our bodies,

keeping us young longer.

(1) What has been credited with significant medicinal properties ?
1

(b) For how many years has green tea been consumed in China and

when did it reach the rest of the world ? ' 2

(c) Why does green tea remain fresh even after being dried and
crumbled ? ' 3

(d) Mention three benefits of drinking green tea. 3

(¢) Why is white tea considered the greatest anti-oxidant power ?
2

() Write about the overall benefits of drinking green and white tea.
: ' 4

32T ALTE O {91 Contd.



14. Answer any five of the following : | 1x5=5
(a) What, accorcimg to Ambedkar, must be the test of greatness ?
' 1
(b) Who is Alexander the Great ? 1
(c) Who is referred to as the apostle of Hero Worship ? 1
(d) What do you mean by ‘voodoo-men’ ? 1
(¢) Who is Bapu ? 1
(/ What does an automobile mean to Narayan ? | i
(¢) Whose disciple was Nehru 28 1
() What, according to Forster, is a mental starch ? 1
(i) Who was Dante ? i
() Where did Nehru receive Gar;dhi’s short note ?
15. Answer any five of .the following : 2x5=1()

GROUP - C
(EFFUSIONS)
(OLD SYLLABUS)

(1) What is the view of Roseberry on the qua]ities.of a great man ?

2

(b)) Who is Napoleon ? Who did test the greatness of Napoleon ?

32T ALTE
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(c)

What is the view of Ambedkar regarding the greatness of military

men ? 2

Why does not Narayan’s driver\ particularly like to drive with

(@)
the air conditioner on ? 2
(e) What are the things R. K. Narayan valued most ? 2.
() What impression did the car of R. K. Narayan create among, the
auto-pundits ? | )
(9 What are the two reasons for Forster's two cheers for
- democracy ? 2
(h) What is E.M. Forster’s view on ‘Faith’ ? Al
(i) Why was Nehru critical of the Congress Working Committee’s
resolution ? 2
() What does Russell mean by “Return to nature” ? 2
16. Answer aiy three of the following . 4x3=12
(1) Write a note on the test of a great man as suggested by
philosophers. - 4
(h) Why is the acquisition of a sophisticated imported car ‘an

32T ALTE

irrelevancy and a nuisance’ for Narayan ? 4
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()

(d)
(e)

)

What was the opinion of R. K. Narayan about his friend who
collected car’s spare parts ? 4

Explain what constitutes real democracy. , 4

How does Nehru overcome his loneliness and feeling of
helplessness which assail him in prison ? 4

Discuss Forster’s views on personal relationship. 4

17. Explain with reference to the context any two of the following :

4x2=8

(@) “If greatness stands for natural power, for predominance, for
something beyond humanity, then Napoleon was a'ssuredly
great.” _ 4
(b) “Democracy is not a Beloved Republic really, and never will be.
~ But it is less hateful than other contemporary forms of
government and to that extent it deserves our supp'ort.” 4
(c) A gentleman must have something more than What a merely
eminent individual has. : 4
(d) “Clearly the line between scientific and traditional technique is
not a sharp one, and ORE Can say exactly where one ends and
the other begins.” 4
18.  Answer any five of the following : - 1x5=5
(@) What is meaning of the word ‘ere’ ? v
(b) Who was half asleep ? i
32T ALTE [12]

(c)

(d) What lies beyond the north wall ? 1y

() Who ride away from each other ? 1

() Who was weeping in a dense forest ? 1

(g) Who is singing the song of Sita ? 1

()  Give an example of the poet’s use of metaphor in the poem

“Rickshaw-Wallah.” 1

(i) What is “tattoo” ? ]

() What are the colours on the arms and legs of the Rickshaw-

Wallah ? : 1

19. - Answer any four of the following : 2x4=8

(1) What are the things that Hardy regards as permanent in human

life ? : - 2

() Why is ‘the man’ as well as ‘the horse” in the poem old and

tired ? - 2

(c) What are the images used to suggest the parting between the

friends ? . : : 2

(H) What does the poet mean when he says, “War’s annals will

cloud into night/Ere their story die ?” 2

(¢) What do the children gaze on in the darkened room ? 2

() Why did tears flow from three pairs of young eyes ? 2

32T ALTE [13] Contd.
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(g) What happens when the fair lady weeps? | . - 2
() What is the subject matter of the “Rickshaw-Wallah” .? 2
20. Answer any three of the following : L5 4x3=12
(a) What are the things that Hardy regards as permanent in human
life ? Explain. . ; 4

(b) How does the poet bring out the painful experience of the parting
of friends ? L

(c) Critically examine the series of pictures that Pound’s poem offers
) 4

(d) Describe the effect of the mother’s song on the children, 4
(e) Exp_lain the significance of the last two lines of ‘Sita’ 4

52T ALTE

‘Rickshaw-Wallah” is a poetic description of the poverty and
misery. Explain. an

+
21. Explain with reference to the context any one of the following :
5)(1::5
(a) “Only thin smoke without flame
From the heaps of couch-grass ;
Yet this will go onward the same
Though Dynasties pass.”

| 5

[14]

®)

(c)

“Here we must make separation
And go out through a thousand
‘miles of dead grass.”

“Tears from three pairs of young eyes fall amain,

'And bowed in sorrow are the three young heads.”

32T ALTE
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SECTION-A

(Reading Skill : 10 Marks)

Read the following passage carefully :

People travelling long distances frequently have to decide
whether they would prefer to go by land, sea or air. Hardly
anyone can positively enjoy sitting in a train for more than a
few hours. Train compartments soon get cramped and stuffy.
It is almost impossible to take your mind off the journey.
Reading is only a partial solution, for the monotonous rhythm
of the wheels clicking on the rails soon lulls you to sleep. During
the day, sleep comes in snatches. At night when you really
wish to go to sleep, you rarely manage to do so. If you are
lucky enough to get a couchette, you spend half the night staring
at the small blue light in the ceiling, or fumbling to find your

passport when you cross a frontier, Inevitably you arrive at
your destination almost exhausted,

Long car journeys are even lesg pleasant, for it ig quite
impossible even to read. On motor-ways you can at least travel
fairly safely at high speeds, but more often than not, the greater
part of the journey is spent on NAITow, bumpy roads which are
crowded with traffic. By compatison, trips by seq offer a great
variety of civilized comforts. Ypu €an stretch your legs OET the
spacious decks, play games, SWIm, meet interesting people and
enjoy good food -always assuming, of course, that the geq j
calm. If it is not, and you are likely to got gen i form l?
transport could be worse. E\{en if you trave] ip id’eal We;ftll-‘ll N
sea-journeys take a long time. Relatively feyy peon] er,
prepared to sacrifice up to a third of thejy holida SI; s oe
Pleasure of travelling on a ship. YS for the

32T ENGL [2]
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Aeroplanes have the reputation of being dangerous and
even hardened travellers are intimidated by them. They also
have the grave disadvantage of being the most expensive form
of transport. But nothing can match them for speed and comfort.
Travelling at a height of 30,000 feet, far above the clouds, and
at over 500 miles an hour is an exhilarating experience. You do
not have to devise ways of taking your mind off the journey,
for an aeroplane gets you to your destination rapidly. For a
few hours, you settle back in a deep armchair to enjoy the
flight. The real escapist can watch a free film show and sip a
hot or cold drink on some services. But even when such
refreshments are not available, there is plenty to keep you
occupied. An aeroplane offers you an unusual breathtaking
view of the world. You soar effortlessly over high mountains
and deep valleys. You really see the shape of the land. If the
landscape is hidden from view, you can enjoy the extraordinary
sight of unbroken clouds, plains that stretch out for miles before
you, while the sun shines brilliantly in a clear sky. The journey
is s0 smooth that there is nothing to prevent you from reading
or sleeping. However you decide to spend your time, one thing
is certain; you will arrive at your destination fresh and
uncrumpled. You will not have to spend the next few days
recovering from a long and arduous journey.

On the basis of your reading of the passage, answer the
following questions :

(@)  Write two reasons for the difficulty of reading on a train
in long distance travelling. 2

(b) What are the two disadvantages of travelling by sea ?
2

Contd.



()  Write two disadvantages of travelling by air. 2 OR
(d) Why does the writer dislike long car journeys ? 2 | Your state government had banned the use of plastic bags.
. . | You are Ranjit/Ranjita, a reporter of ‘the Assam Tribune’.
e) Find a d ' “lacki J i, P
© air or vtr?:ilago;}}’e passage which means “lacking fresh Write a report in 100-125 words on how the ban is being
) 1 ignored and what damage the indiscriminate use of plastic
()  Give an antonym of “narrow”. ' 1 bags is causing to the environment. 10
4. You are Navanil / Navanita. You have seen an advertisement
SECTION-B in a newspaper for a post of a Computer Assistant in the local
post-office. Write an application, along with your detailed
(Advanced Writing Skills : 25 Marks) la;;s’;)llr;izgt(f)o:h ;: (I))Sc:;lt\./laSter in response to (1€ adVertlsemei‘S
2.  You are Arnab / Anamika, President of the Students’ Union of | OR
your college. Your college is organizing an “Inter-College }
Son.g and Dance Competition” in the next month. Write a | You are Selim/Surabhi. Write a letter to the Editor of “The
notice for the college notice board giving all the details of the | Sentinel’ drawing the attention of the authorities to the
event. frequent violation of traffic rules in your locality. 10
(Word Limit : 50 words) 5 i
OR SECTION-C
Design a poster in not more than 50 words to create awareness (Grammar  : 20 Marks)
about the safety measures to be taken during the COVID-19
pandemic. 5

5.  Change the form of the narration in the following sentences :
. (any two) 2x2=4
3.  Your school has recently organized a function to felicitate

Lovlina Borgohain, the Olympic bronze medalist. Prepare a \ (1) “Why aren’t you wearing shoes ?” the teacher asks the
report on that event in 100-125 words to be published in your girl. “My mother did not bring them down from the
school magazine. 10 shelf”, she answers simply.
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(b)

(c)

(d)

I asked my friend why he looked so sad. He replied that
his father was seriously ill and there was little hope for
his recovery.

My friend said to me, “I am very thirsty. Please give me
a glass of water”.

Reena asked the boy what the matter was and why he
was crying. She also advised him to be cheerful.

6. Change the voice of any three of the following sentences :

1x3=3

(@) He bought his son a watch.
(b) The girl was punished for misconduct.
(c)  Why did no one inform me of the change of plan ?
(d) The blind man was being led by a little boy.
(¢)  The coach is training the players.
()  Drive the car slowly.
(3 He will be forgotten in a few days.
7.  Rewrite any five of the following sentences using the verbs
given in brackets in their correct tense forms : 1x5=5
(1) She (talk) to her neighbour when the baby began to cry.

(b)

32T ENGL

I (see) him a week ago.

[6]

(c) If you (try) hard you would have succeeded.
(d) We reached the station after the train (leave).
(¢) He (make) a doll now.
(N I wish I (were) a bird.
(g) 1(do) a lot of work today.
() She (come) here the day after tomorrow.
(i)  She (read) the novel for the last three days.
8.  Rewrite any four of the following sentences filling in the blanks
with appropriate prepositions : 1x4=4
(@) I am very much interested your story.
(b)) The police ran the thief.
(0 He has no money him.
(d) She takes pride her wealth.
¢/ 1 wonder if you could get it done tomorrow.
() Cuttherope _____ a knife.
32T ENGL [7] Contd.



(8)

(h)

India is rich minerals.

One must abide one’s promise.

9.  Rewrite any four of the following sentences as directed -

(a)

(b)

(c)

(4)

(e)

7

(2)

32T ENGL,

1x4=4

Is this the kind of dress to wear in school ?

(Make it an assertive sentence)

He worked hard to pass the examination.

(Make it g complex sentence)
Kindly do me a favour
(Add a question tag)
Atul is the best boy in the class.

(Change it into positive degree)

I shall remember your kindness forever.

(Make it negative without changing the meanin 2)

Everyone wishes to be happy.
(Make it inferrogative)

On seeing the lion, he ran away.
(Make it a compound sentence)

[8]

SECTION-D

(Textbooks 45 Marks)

10. Read the following exiracts and answer the questions that

follow :

(a)

32T ENGL

“ Those who prepare green wars,

wars with gas, wars with fire,

victory with no survivors,

would put on clean clothes

and walk about with their brothers

in the shade, doing nothing.”

Questions :

(i)

(1)

(iii)

(iv)

What are the different kinds of wars mentioned by

the poet in the passage ? | 1
What kind of victory do they achieve ? 1
What should the warmongers do ? 1

Find words in the passage that mean “those left

alive” and “win”. 1

[9] Contd.



(b)

32T ENGL

OR

“The polished traffic passed with a mind
ahead,

Or if ever aside a moment, then out of
sorts.

At having the landscape marred with the
artless paint

Of signs that with N turned wrong and S
Turned wrong

Offered for sell wild berries in wooden
quarts,

Or crook-necked golden squash with silver
warts,

Or beauty rest in a beautiful mountain scene,

You have the money, but if you want to be
mean,

Why keep your money (this crossly) and go
along.”

Questions :
() How did the traffic péss ?
(i) Why did one turn out of sorts ?

[10]

(iii) What are the two things that were sold in that
stand ? 1

(iv) What should one do if one wants to be mean ?
1

11. Answer any three of the following questions in 30-40 words :

(i)

(i1)

(iii)

(iv)

(v)

(vi)

2x3=6

Describe the things that cause suffering and pain
mentioned by Keats in ‘A Thing of Beauty’'.

What childhood fear did Kamala Das refer to in her
poem ? How did she hide it ?

What is the significance of the parting words of the
speaker and her smile in ‘My Mother at Sixty-Six ?

What is the ‘sadness’ that the poet refers to in the poem
‘Keeping Quiet’ ?

According to Pablo Neruda, what important lesson can
the Earth teach us?

Why do the people who are running the roadside stand
ask for some city money ?

(vii) What increases continuously in ‘A Thing of Beauty’ ?

32T ENGL
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12. Answer any five of the following questions : 1x5=5
() How long did M. Hamel teach in his school ?
(b) Where does Mukesh live ?
(c) What does Saheb look for in the garbage dumps ?
(d) Whom did Gandhi and Shukla want to meet in Patng ?
() Who is Derek ?
(/)  What does Sophie want to have when she grows up ?
(g9 Name the book from where the cha ’

t .
Chota Sahib’ has been taken. prer “Memories of a

(h) Why did Gandhi visit Lucknow in 1916 ?
(i)  What is the name of the blacksmith in ‘“The Last Lesson’ ?
() What is the “great trouble with Alsace” ?

13. Answer any five in 30-40 words : 2x5=10
() What lesson do you learn from the story ‘The Last

32T ENGL

Lesson’ ?

[12]

(b)

(c)

(@

(e

g

(h)

(i)

14. Answer any ot

(a)

32T ENGL

What kind of person was Geoff ?

Why, did Jansie feel sad hearing about Sophie’s dream ?

Why was Gandhi impressed with Shukla ?

Why was Professor Malkani’s action of offering shelter
to Gandhi ‘extraordinary’ ?

Who was John Rowntree ?

What character of the North bank of the Brahmaputra
did John Rowntree refer to?

Was sahib happy with his job at the tea stall ?

What would Franz love to do on that sunny morning
instead of going to school ?

¢ of the following questions in 80-100 words :
5x1=5

Describe the bangle makers of Firozabad. How does the

vicious circle of the Sahukars, the middlemen never allow

them to come out of their poverty ?

[13] Contd.



()

OR

How different from usual was th
e atmosphere at sch
on the day of the last lesson ? ’ ot schoo!

15.  Answer any one of the following questions in 125-150 words :

(a)

(b)

7x1=7

What are the similarities in the lives of Bama and

Zitkala-Sa though th .
situations ? & ey belong to their respective

OR

Give an elaborate account of th '
. e celebration :
with Uruka, the important part of Magh Bih ;SSOClated

16. Answer any four of the following questions in 30-40 words :

(a)
(9]

(c)

32T ENGL

2x4=8
What did astrologers foretell when Tiger King was born ?
Who was Dr. Sadao ? Where was his house ?

[14]

(@)

(e)

(8)

(h)

32T ENGL

What is the significance of Bhelaghar ?

How did Annan explain the elder man’s action to Bama ?
Why and how did Derry enter Mr. Lamb’s garden ?
Why did Derry go back to Mr. Lamb in the end ?

Why was 7itkala-Sa terrified when Judewin told her that
her hair would be cut short?

[15]
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Q. No. 10 carries 2 narks each ; . 2x2 = 4
Q. No. 11 carries 4 marks eacl 4x] = 4
Q. No. 12 carries 3 marks eacl 3x2 = 6
Q. No. 13 carries 1 mark eacli B9 = e
Q. No. 14 carries 2 marks each 2x4 = 8
Q. No. 15 carries 10 marks each 10x1 = 10

Total =100
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/

ADVANCE ASSAMESE

(NEW COURSE)

. Full Marks : 100 "

. Pass Marks : 30

Time : Three hours - .

' Total number of ﬁﬁgés -8

The ﬁ'gures in the margiﬁ ir'tdz“cate‘ ﬁll marks for the questio’né.

Q. No

. 1 carries 1 mark each

Q. Nb. 2 carries 4 marks

Q. No

0
g

SYelsTel ottt T oY ool et YTt T Yot o

$ZEFEEEEEEEFF5555%%¢%

. 3 carries 4 marks

. 4 carries 3 marks each
. 5 carries 1 mark each-
. 6 carries 6 marks

. 7 carries-3 marks each
. 8.carries 8 marks

. 9(a) carries 2 marks

. 9(b) carries 3 marks
. 9(c) carries 3 marks

. 10 carries 4 marks

. 11 carries 5 marks

. 12(a) carries 1 mark

. 12(b) carries 2 marks
. 12(c) carries 2 marks
. 13.carries 6 marks

. 14 carries: 4 marks

. 15 carries 6 marks

. 16(a) carries 3 marks
. 16(b) carries 1 mark

. 17 carries 6 marks

. 18 carries.6 mark

. 19 carries 1 mark ench

1x3
- 4x1
4x1
3%x3
1x3
*6x1
3x2
8x1
2x1
3x1
3x1

~ 4x1
~ 5x1
1x1
2x1
2x1
6x1
4x1
6x1
3x1
1x1
6x1

- 6x1
- 1x3

Total”

L T T T T | O I T O nowono

PDORRWRARAINNRUIRWONRNRW OB W

100
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Total number of pages — 8

32T POSC
2022
POLITICAL SCIENCE
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
PART-A (F -9g4)
Q. No. 1 carries 1 mark each - 1x6 =
Q. Nos. 2 -7 carry 2. marks eaclt ' 2x6 = 12
Q. Nos. 8 -12 carry 4 marks each 4x5 = 20
Q. Nos. 13 & 14 carry 6 marks ench ' 6x2 =12
L Total = 50
PART-B (¥ - =ig*])
Q. No. 15 carries 1 mark eacl Ix6= 6
Q. Nos. 16 =21 carry 2 marks each , 2X6 =12
Q. Nos. 22 =26 carry 4 marks each : 4x5 = 20
Q. Nos. 27 & 28 carry 6 marks eacl 6%2 = 12
| o Total = 50

Total (Part A & B): 50+ 50 =100

Coritd.
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(b)

(c)

(d)
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2T POSC

PART-A /-9

( Contemporary World Politics )

(TSR [ et )

Write the full form of NIEO.
NIEO-9 723 %=t5! 74l |

The collapse of which country is known as the collapse of the “Second

World” ?

PR 2 7o “Tasl u7s «feq ZoiE ol Tm 2

In which year Iraq invaded Kuwait ?

fen e

[ be1e 2] FERD NG HEf 2

Write the full form of SAFTA.
SAFTA-F 579}l r=it61 72l |

Earth Summit was held in the year

1

1

FIFAl A SYe (2fE

(Fill in the blank)

(eTT 12 %79 F1)

The World Council of Indigenous people was formed in the vear

1974/1975/1976.

1

(Choose the correct answer)

ReAghal aemiEeR [ewfRam 507 2% $598/559¢/ 5598 s |

(%% Cexeh! i Tlenseay)

Mention fwo reforms Mikhail Gorbachev initiated in the Soviet Union.

2.
A 2

R oisre (QoRT 2V SRS 9 FAHR 75 SE |

3.  Write down the names of the Permanent member states of Security Council
of United Nations Organization. 2
B 25 RO ko B | s v e 1 e i s | S RO I G

4. Write the names of fwo non-governmental organisations which were
concerned with Protection of Human Rights all over the world. - 2

el Rece SRR SR TR 2 S 9 76) ([SoSpa] TRl o el |

5. Name the principal organs of United Nations Organisation. 2
I 2 SRINCHLDR AT &7l |
Mention fwo sources of threats to human being. 2
SEEfo YA @RI 76 SRS G 1|
Write two causes of Water Pollution. 2
TEeAd o] e =i

8.  Why did big powers need to have alliance with smaller countries ? Write

' four reasons. - 4
I ¥ &1 AT 79 79 e Navw 5 eries ¢ 57§60 S B

9. Discuss briefly about the constraints on U.S. hegemony. 4
i TEAg AYiTR CFao etﬁqmmsld%ﬂ = B s 37 |

82T POSE {8] Contd.



10.

ks

12.

1.8

14.

Discuss briefly about the recent relationship between India and Pakistan.

4
OINS S AT Fere RO =i Fa@ 540 S <1 |
Write briefly about Global Poverty. : 4
o wiswoR [{E v 9|
Discuss briefly about the Political Consequences of Globalization. 4
R Stecafos ARz REw s S < |
Why did Soviet Union disintegrate ? Discuss three reasons. 6
RIFSED LR 7 k6l (2%e 2 [OHor FRe S5 9 |

Or / 5144

Discuss elaborately the U.S. hegemony as an Economic Super Power.

: 6
we(AfeT N2 RBhE SR IS ifeie; Remeiw SueEs- =i
What are the main pillars of ASEAN ? Discuss elaborately. 6

Or/ F%41
6

|(' .:f. d ¢ s 1 1
Vlsitss India’s Relationship with China.

b1 G705 steren 7o ST <51 |

2T poge ' [4]

(®)

(c)

(d)

(e)

PART-B / <- 9124
( Politics in India Since Independence )

( FIies elses FicHie )

In which year first general election was held in India ? i

SRS 2 Al o (T 57 TP (2fRer?

Who was the first Chief Election Commissioner of India ? 1

O Y SRR A BT e i i 2

Write the full form of NEFA. J 1
NEFA S 5= Si(to! Bt | '
Panchsheel principles was jointly declared by Indian Prime Minister
.and Chinese Premier Zhou Enlai. 1
(Fill in the blank)
AL IS Sied ALEl SIS B IS (BT A
LIS CIREN R |
(T 12 999 71 )
Who started “To.tal Revolution” ? 1
IR {21 I SRS SR 2
What is the full form of MNF ? 1

MNF-3 5= Fi#(thl 5 2

16. When was the Bharatiya Jana Sangh formed ? Who was the founder

President of Jana Sangh ? 2
OIS GERY (ol 910 2RE ¢ SR GERed AN TS @R
wifRe 7

S2INEOSE [5] + Contd.



Write the names and symbols of any two National Political: Parties in India.

17
2.
SRS RCPIEA! 701 NG TS EAOT el Wi WA A0 o4l
18. Write fwo consequences of 1977 Lok Sabha Election. R 2
$594 b9 (EETS! R 7o) wifRefo il |
19. Write any two features of Coalition Government in India. 2
OITo® AT SIS P 7o &g |
20. Write two causes of the emergence of communalism in India. 2
Clive ArEmiitTel Te™ 7or iRe ot |
- 21.  Write fwo causes of origin of regionalism in India. 2
CleY wcorRmE Geoifed 75! Sige 74|
22. Explain briefly about “Two-Nation Theory”. i 4
“f-5ifs ©F” T=CE 5CF I 51|
23. Why did India adopt the Policy of Non-Alignment ? Discuss briefly. 4
SIACS 67 (B -RTeeE it g SRS 2 59 SicEsa 94 |
24 Discuss briefly the causes of decline of the Congress Party. "
e7ols oTd ST TR B SCEDl 4 |
25. Discuss briefly the importance of Social Movement. ' 4
ST SrwiERe @Y BT SNCEDAl 41 |
32T POSC [6]

e

26. Explain any two reasons for the emergence of the Coalition Politics in the

2T

28.

32T POSC

Indian Democratic System. 4

SISORI 5ITOlfES TTEO WIS IATHIS CCR e 75! DiFe Wit <1 |

Discuss the main controversies around planned development in the early
years of India’s Independence. 6

©ITod FITOR ST TS #AfFEES K Goe Gits Te Koz
=y tieeioal | -

Or/ g2<

What do you mean by planned development ? Discuss the role of Planning
Commission in the development of India. 1+5=6

PR o S B 16 9@ 2 ©ies RS #/fR-5sm1 Sicioi ol S
4 |

Discuss the consequences of National Emergency declared on 25th June,
111751 6
S59¢ B 3¢ GO (ARl 9 SIS GRSl SRR ARSI wieival 54 |

Or/9ea

Discuss elaborately about the Secessionist Movements of North-East India.
6

TGI-7d OITT RfvzoRIn SICHIEFPTRRE [ Remei SicEn 51 |

[7]



[
1

Total number of pages - 16

32T ECON
p
ECONOMICS
Full Marks : 80
Pass Marks : 24
Time : Three hours
The figures in the margin indicate full marks
for the questions.
PART-A (& -=)
Q. No. 1 (i-wi) carries 1 mark enlch 1x6 = 6
Q. Nos. 2 -7 carry 2 marks each ) 2x6 = 12
Q. Nos. 8 -11 carry 4 marks eacl ' ~ 4x4 =16
Q. No. 12 carries 6 marks 6x1 = 6
: - Total = 40
PART-B (& - 5[2#))
Q. No. 13 (i-wvi) carries 1 mark eaclt 1x6= -6
Q. Nos. 14 - 19 carry 2 narks eaclt 2%6 = 12
Q. Nos. 20 - 23 carry 4 marks eaclt 4x4 = 16
Q. No. 24 carries 6 marks 6x1= 6

Total = 40
Total (PART A & B): 40+ 40=280

Contd.



IR (7)

(i)

(111)

o)

(v)

(vi)

PART-A /T-wigx|

Define involuntary unemployment.’

i
S RFC FIRIS TS &
What is effective demand ?
A e 1
What do you understand by depreciation of capital ? 1
GNP = GDP - V: | '
2ot (O REL T (Fill in the blank)
| | 1
GNP = GDP - ' | | 7 3
_ AL T | (3T 212 29 357)
What is foi'eign exchange market ? 1
i Jiw e /e |

Which of the following transactions are included in the cu ¢
rren

account of Balance of Payment ?
1

" AREE TR bleTe Bhivfe AEERs LD G SIS 59
¢ N L

32T ECON

(@) Import and Export of goods I
TR S Ok 2@

(b) Import and Export of services
CRIR T SR 19

[2]

() Unilateral transfer

i e RSO

(d) All of the above

GHEE FEETRIS

(Choose the correct option)

(w7 GeFl AR TS

at market price and GDP at factor cost.

2

2 Write the differences between: GDP

<ot 76 GDP WS el IS GDP-F Fies AL feral |

- ' OR /SI241

Write one similarity and one difference between intermediate goods and -

capital goods. 1+1=2
TSl T S ) BN BT A SR 40 ofi2f%y Fiil |
3. What do you understand by ‘Paradox of Thrift" ? 2
FeegR 4 egRer FE IfeiE & 3@
Contd.
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OR /%241

What is aggregate supply ? Explain.

AEE @6A 52 392 @1

4. Write fwo différences between direct tax and indirect tax. 2

ShopE T WIS AT IR WG 70! ok il

What are the components of high-powered money 2

a1
[

THETOITE JUE SATMETR [ 52
OR /<241
Define Bank Rate and Cash Reserve Ratio. 1+1=2

(O TR AR o AT SASR e

6.  Write fwo differences between Balance of Payrﬁent and Balance of Trade.

SfRreNgE TSl W% eI FANOE Wﬁ. ORI SIMGRIN

7. Write in brief the ideas of fixed exchange rate and flexible exchange rate.

o)
o= iy 219 % ARGETAIe [ 991 A9ell 70! B il |

32T ECON [4]

N

What is investment multiplier ? If a new investment of Rs. 300_: crore
increases National Income by Rs. 1200 crore, calculate the value of
investment multiplier. In this case, what will be the value of MPC ?

1+1+2=4

S o e Tz 300 @i 5 wo R GistE o 1200 CRIb 53

3% T, corg KA e M 919 31| GLFTe, MPCH 30S e 292
OR /<1341

Briefly discuss the components of aggregate demand. G

AEE HifRs TAMTETIR ACEC SHETv 4

Write differences between the folldwing concepts : (any two) 2+2=4
Crefe AR WER ARy @Rl ¢ (@ 1)
(i) Autonomous investment and Induced investment.

s REGEE Wi Sfees R |

(i) Ex-ante consumption and Ex-post consumption.

relifiTe TSl Tk (1T THCSla|

32T ECON [5] Contd.



10.

4
Ififee @ EETE 29 R FE T K0
11. Discuss the components of Government Budget. 4
B! TGS CAMIATZ ST 41 |
32T ECON [6]

(iii) Marginal propensity to consume and Marginal propensity to save

ofas TATSN 2g9el O 2ifes F%ey s |

(iv) Marginal propensity to consume ; - : .
_ ginal propensity ¢ and Average propensity to consume.

2T TATSle SOl S T LTS el |

Discuss four main functions of Central Bank. : 4

@HIE @I BIR0) SR [ S 317 |

OR /9194

Explain how commercial banks create credit.

12.

32T ECON

OR /=131
- Define the following : THI+1+1=4
oo FRPTIRE ke ol 8 |
(i)  Fiscal Deficit
QG o
(i) Primary Deficit
gife Al
(iii) Planned govemmen’c expénd_iture
SRR BRI ﬁm-
(iv) Non-planned government expendimré.
SifEE-Re® HIIN! U |
Explain how GDP is calcu_latéd using Income method. . 6

Wi 2w TR (@EME GDP el 91 =, R <541 |
OR /S0

Discuss the reasons why GDP can’t be used as an index of country’s welfare.

6
GDP & (74 43R TR TS 0ol TR ST FIRRE SO S 4 |

[7] Contd.



PART-B / 3-5i2¢t

"13. (i) Define sustainable developmen’c. | : ; ) 1

GESR RO RN BRI

(i) During British rule, decay of Indian ,handicrafts. was caused by —

1

o eSS Siked TERET slead JR9 it —

(n) Discriminatory tariff policy of the British Government
Gtz vesiss femee = Sifs
(b) Competition from machine-made pro‘ducts
(c) Change in patterns of demand,
Siftmis =6 2ifRges
(d) All of the above
G FAPCEEIE
(Choose the correct optidn)
(om Gewch! e Gferedt)
(iii) In which year the NITI Aayog was formed ? 1

32T ECON

SfS (NITI) S5 (i 570 9107 31 (32T ?

[8]

(iv) What is the difference between ‘Labour Force’ and ‘Work Force” ?

(@)

(v1)

1

i O e MEE AL 2

Mention one similarity of the economic policies adopted by India and

Pakistan. . : ; 1

SRS TR 2B 4% T LT Ao 5 AT S |

The ‘Great Leap Forward” campaign in China focused on —

1
FiRe TR 9= sl (Great Leép Porwafd)’ wfea T2 eFW
et —
(a) Privatisation
o
(b) Widespread industrialisation

32T ECON

()

(d)

TR A

Development of services sector

ol A9 [T

Economic reform

LSRGV
(Choose the correct option)

(3% CGICo! Jifz Tlaeq))

o A 1S Contd.



14.

15.

Mention fwo major industrial sector reforms in the Indian economy under

the policy of liberalisation. . J o)

TAIERE O TAR SISO LT TUla] UGS 9] IV 75T wse9lel =

CE T
OR /G241

Write about fwo positive effects of LPG policies in the Indian economy.

2

SISy dRIfee LPG Mes 7b! AN eoiks [Ee il

Write two merits of GST. ' 2

GST-= 751 R4l il |
OR /<129

What is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy. %)

fReuee 2 oEor gqifos Rues «br i 2or e |

32T ECON [10]

16.
contributed highest to the GDP of India ? 1+1=2,
wefAifes Wefefes ALE /e 2021 vA© (@G %3 593 GDP (&5 FdifZ<
Teq - CaNAR? i .
OR /241
Wrife two characteristics of small-scale industries. 2
=8 CWiee 76! (ANe) %am
17. Writé two. differences between economic infrastructure and social
infrastructure. _ | 2
(e S o= AT e 757 .m"aﬂ o |
_‘ OR /=<1
Write about fwo problems faced by the power sector in India. 2
oRed =i 182 TN (@ 75 A R fei
39T ECON | [11] Contd.

What is structural composition of an economy ? As on 2021, which sector




18.

£ 19

Write any two measures undertaken by the Government of india to

improve agricultural marketing. ' )
SR TG IFF GRS A OISO SIS A T RG] 757 et B |

OR /%41

What do you understand by diversification of agriculture ? . 2

TR Whassd I & 5@,

What are the three main approaches undertaken by Government of India

to alleviate poverty ? : ' 910

wRmel TRIFEE A OIS 5P 4% 1 & Ao fofb 5 e

OR /Z24]

Write a short note on MGNREGA.. ' I 2

MGNREGA-3 RIE 530 61 (i 2l |

32T ECON 2]

Discuss the gbals of planhing in India. 4

;\51%\9@/% oiffFEIE COTIFTIR HICETbAl $91
OR /=€

Briefly discuss fwo positive and two negative impacts of Green Revolution.

2+2=4

Foe FeRE 70 IS W 70 AT Aes REE SIS ScTivel <5 |

21. Write a comparative note on the demographic indicators for India, China
and Pakistan. 4
SRS Shiefe Mo ofes oiFs, tF 9% ARSAS 9 geriEe
Gl gEe F|

OR /<131
(i)  Write fwo reasons for rapid economic development in China. 2
5 wo. e REmRE 707 FiRe i |
39T ECON [13] Contd.



- E - et . » - +-—'= i
anic farming ? Discuss its merits and demerits. 1+5=6

(11) Write frwo reasons for slow economic growth in Pakistan. 24 Wh:at is org

2
AT N2 ST I 75 et By | . ot TR 2 T RS ST T
OR /<2<
22.  Write about different types of unemployment. 4

an Capital ? Discuss the sources of human capital formation.

R Rien dsrms [Ra o What is Hum _
| 1+5=6

e S 2 WS A 2108 SR DAl |

'23.  Is economic growth, a cause of environmental degradétion ? ]ustify your

answer. : : [
: : _ 4 i |

SR Taa SR {8 (9 96 TR @R ? (OIK Tess s TR

X
SO |
OR /<241
(i) Write #wo causes of global warming. 2

(TR Tzeel g% 75 dRA Ll

(i) Suggest fwo measures for attaining sustainable de"elopment Ui
.

CIGICEEIG JTe ICRRG gjﬂ'@q AE 557 W{ @Tﬂwml
\

|
32T ECON S ' % 32T ECON [15]
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1. Answer the following questions :

OeT\S

()

()

(c)

(d)

@)

"

(g)

()

32T EDUC

‘Gauhati University was'established in

& g L S o )
Tl erepTes Oes ¢ .

Fill in the blanks :

0T A2 75 79 ¢

L}
O

5% Bloi 91 (ol |

» the Correspondence Education System was

In the year
started in India.

SRS ORI R 9 5O ST 77 |
The World Environment Day is observed on

R sifaeae e @ﬁtﬂ@‘m«»{awﬁ

Edward Lee Thorndike’s Trial and Eyy
known as Theory of

or method of learning is also

ﬁw@ﬁmﬁmwmmwﬁwqm
Wiﬁfﬁm*@l e

In a multiple choice question, a student
answer with the help of

wﬁwmﬁmam

TEA5! qifb SRR« |

All scores are taken into consideration in fin.
measure of Central Tendency.

(e eReToF (=Rl fZpiet
2|

Give short answers in one sentence :
G e & 73 ¢

What is Distance Education ?

7 i e

“Learning is the acquisition of new behaviour or the strengthening
and weakening of old behaviour as a result of experience.” Who said
this statement ? '

“Tfeeor oo © M Wb G I <t oA Wb < 2
e P ol i oS 1 @2 Sfea @ tafes

[2]

can identify the correct
process. ‘

A&S Al 7 s

ding out as

(6% ]

-

32T EDUC

Who was the propounder of Classical Conditioning Theory of

(i)

learning ?
[ s
R Gl SRR Oes TR (I Sii=e 2
() ““Memory is the ideal revival.... in which the object of past

experiences are reinstated as far as possible in the order and manner
of their original occurrence.” Who said this ?

<35 TR @ Y0 R TR T ... TS TSTS TCEeR REERETR
RS 7 77T 2K R Wi el SRER e eifent T4 20 17 92 Sl
FE2 A .
(k) What is volitional or voluntary attention ?

ftzs Al TRIFO A FIE QT 2

() Write the formula for finding out Median from group data.

s iR ARl S e 3 gt B
Write two aims of Secondary Education recommended by Mudal_iar
I 2
Commission.

mWWWMWWﬁ@W@WT@@QWI

Write two suggestions of Kothari Commission regarding education and
; 2

%;d;?;\égvnﬁﬂgﬁm T IR DG SRRl 70 A= Seadl 51|
Write two objectives of Non-formal Education. 2
wsTelgaifes e 70/ S A I |
Write fwo significant aspects of Distance Education. 2
v i o wieee e S
Write two principles of Environmental Education. 2
iRl R 76 Ao S 9 |
What do you mean by Value Education ? 2
Al e T [ ge e
Mention two differences between maturation and Iearning 2
ARee] S R TIETS A 75 AL Sead T

[3] Contd.



18]

14k

10

13:

14.

15,

16.

17,

18.

Write two mental causes of forgetting. . I 2
frgfen 701 HF SEd S 91
Mention two sources or factors that influence the intere# 9{ an individual.
2

Cfs

uﬂmw@wm'ﬁﬂﬁ‘e SOES K | i e i e o @‘caﬂw;
Mention two social qualities of a mentally healthy perso.n. 2
TR St FEAA G G ARG 700 ANEE wt S 4 |

Mention any two steps you have to follow for classifying scores into a
frequency distribution table. o)

RKAR] Ko Oifere! (ATI6<e 91 g FEIeS Wikt A S =it Reear 761
¥ O T4

Find Mean and Median from the folIoWing data : 1+1=2
woTe ol SARIFER 27 G i W [efa w4 o
48, 45, 92, 56, 68, 85, 72, 74, 64, 90.

Discuss four major problems of Secondary Education in Assam. 4
P2 P e P ol o s 17 o R e A i T s s
Discuss four merits of Open Education System. 4

T el GaER G101 FARE SCETnAl 4 |

“Physical Education does neither train up the soul nor body, but the
whole man.” Discuss the statement. 4
TR FEFR (@ 9 A =€ b W, 9w TS gfewaes o
e [ A I

Discuss the educational significance of learning by insight. 4
s e (e OiceR FRACE STl <541

Or /[ 9241
Discuss four characteristics of conditioning learning. 4

SR RO G106 (AR SITEnel 4 |

Discuss how do a teacher can develop attention and interest of students in
classroom situation. 4

GG R fire FrFdmass TEIEN S Site e 90 (@ EE
b2 b 1 M| s 1 5 o e '

32T EDUC (4]

il

20.

01,

Write which types of memory operate in the following situations :
1#1+1+1=4

o AR TEe & & aeRa g e o9 e
(1) Anbwering essay-type questions.
AT RS TR S|
(b) Dri\;i}ﬁg a car.

SIGT eS|

() Solving mathematical problems.

sifaes (I FTEP! FAALE FCICO |
(d) An adult person can recall some incidents happened in his early life.

G 21eEE I (967 TOTS GRS (@I (I WO o R

S| |
Discuss the purposes of Mental Hygiene. -
APBRe AR SreIRe] SeEv= F |

Or/ &4
Discuss the functions of Mental Hygiene. 4
TR FrgREes R TR SIEn! 10
Discuss the role of family in promoting proper mental health of children.

; 4
Ry Soge TR TR [ErS #ARTER gl SeEps #< |

What do you mean by measure of central tendency ? Mention three
advantages of Median as a measure of central tendency. 1+3=4

i eRereT el I & 99 7 (R el et fReieet Wegwia oA Rl
T 4

Or/ gl
What do you mean by measure of variability or dispersion ? Write three
‘advantages of the measure of quartile deviation. 5o 134

cowrel 4l [Rprfes (o1 3T & qal 2 el Rpfe #fRaisiom fome HRal v |

23. What is Frequency Polygon ? Draw a Frequency Polygon from the
following distribution table : (Use graph paper) 1+3=4
32T EDUC _ [5] Contd.



ST I2gE FIF (e 2 wero Ml wifesig ORI 7] [Tl T2 75 What is Population Educatibn? How can the Population Education be
i 25! : : i =6

0 e e D : I' imparted in educational institution ? ﬁ2+4
Rl FESAUERTY Sopr e : el B TR Q@IE? FrEoEe SRl R (R e SR AR
(cHF erEare) @R@RS) . o Ll ¢
- 60-64 2 ' , DAl F S
55-59 3 ' r[ it? Di th le of
50-54 6 2 : What do you mean by women empowerment ? Discuss the rc;_ Ji; _(_)6
45-49 8 : education in women empowerment. _ ’ &
e 12 et TR e 6 2 SR AT R QR A S
35-39 8 41| -
30-34 6 : 26. What do you mean by ]earning? Discuss the important sub]echve f;ctoré’s
25-29 3 Eixd : ' : D+4=
of learning. %
20-24 ) - , Rl et e gt 2 R @@:ﬁcf#@ﬁ%mm@@imWWI
=30 | | | Or/ @l |
Or [/ 2«1 What is Trial and Error method of learning ? Discuss the major laXi ?6f
is Pi i i ded by Edward Lee Thorndike. LTES
What is F_'le Diagram ? Represent the following data  of students’ g;qr%nmg pm%(;? gﬁeﬁﬁ)‘:i 2o 2 GG &) Tz C® 49 G 4l PO el
enrolment in a Primary school by a pie diagram. 1+3=4 7 %w; ? q&qQ
S ﬁ@j% QICET? G el Rulers 2e-gdy aeefeq SAIE g€ fHag : : eI s A
TRITO TAZAN 1| ' 27. What is Mean ? Compute Mean from the following distribution 1+5—3é
Class No. : - . Assumed Mean method 2 o
e 0. of Stud::nts e ? ST 21T Ao RIS TS il KIS Foiee oliFaE 4
(cie) (REGRQF 7L i cff'@'o
[ 50 : sie fNefa 4l ¢
1I 40 Class Interval Frequency
111 35 - (CH SrgAle) GIEKIEO)
IV 35 80-84 3 :
v 40 75-79 4
Total = 200 70-74 7
24. Discuss the power and functions of “Board of Secondary Education, 65-69 _ 8
Assam’ as given by the ‘Secondary Education Act of Assam, 1961". 6 60-64 - 12
RS W SR, I, S50Y’F Rl An T “SEE i FE @67 ' 55-59 7
TS TiF PRPRR A F1 | 50-54 ' 4
Or/ G2ar _ 45-49 3
Discuss the suggestions forwarded by ‘National Education Policy, 1986’ 40-44 2
regarding Secondafy Education. _ 6 e
TR PP TAE Sovb bR Tor MR GiC’e Sy 3 AR T ' %
I [ T e : ; .
32T EDUC [6]

32T EDUC [7]
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il

Answer the following questions : ( any twelve ) )

1x12=12

wete Mal eHPRES ©es WAl 8 (fReHe 196! )

()

®)

(c)

(d)

(e)

()

(g

(h)

(1)

32T HIST

Where was the Indus Valley Civilization discovered first ?
g, el 2 'S Sifiw 2 2

Name the first Mahajanapada.

223 YRGS | &4 |

Name one of the grains found at the Harappan sites.

2 1 217 ) S 7 P O e S R S B R P S e

Who authored ‘Chakaripheti Buranji’ ?

DI (0 [E! (G 2o PR 2

During whose reign was the Umananda temple at Guwahati built ?

. (RIS SR G ey TS SRS ST W e <= (22T 2

Who was the first woman Bhikkhuni ?

9 91 Wfeet ol @i wifee 2

Who was the first woman ruler of the Ahom Kingdom ?

0T GRS SR 1 24T N[ Az (@ iR 2

Who was the author of ‘Rihla” ?

e @=E @ 2

Who was the physician of Mughal Prince Dara Shukoh ?

ElerE SIS Wikl DR e biseom @ wifse 2

[2]

(7)

(k)

@

(m)

(1)

(©)

(p)

Answer the following questions in brief : (any fwelve)

Name the favourite calligraphy of Akbar.

ST o ANl e S R

Name the first British colony in India.

SIS AT TG SAWEE A 720 |

In which year did the British government abolish the sati system in
India ?

(P 5T© AN SIS FOMIZ 2l Reyes sRfeet ¢

Who termed the Revolt of 1857 as the first war of Indian

Independence ?

(FIE Shea 99 [euiss oes 4 FiTel ke sl @fze 2

In which year was the capital of India shifted to Delhi from

Calcutta ?

(T D© SO AT iy A1 et ZmieRe = taa 2

Who was the first editor Qf ‘Tunaki” ?

(SIS A TS (I ST 2

When was the first railway started in India ?

SRS &N (F@ el [Tl wleat sias w2l 2

~ 2x12=24

wero il esmes by O W@ ¢ (R qreny)

()

SATHHIST

Mention any two characteristics of the Harappan Civilization.

2]12 Ao Wzﬁ“@ﬁ@}@.ﬁw il

[3 ] Contd.



(b)

(o)

(d)

(e)

("

(2)

()

(1)

()

32T HIST

Name any two important sites of the Harappan Civilization.

25181 SO RIcPle] 70 S el CFas s i i

What metals did the Harappans procure from Khetri region of

Rajasthan and Kolar of Karnataka ?

ACTZIE (Al DI Wi b (BTN 28l FERPIE & & 4 s

RS ? ;

Where and when did the peasant revolt first take place in Assam ?

S 0 SR (oAl 2 3R [wiR 2feT 2

What is Mahayana ?

A & 2

When did Mirjumla invade Assam ? Which author accompanied

him ? .

TGS (oA ST SGwd SRfe 2 (967 79 o2 Frmems 75 &

What were the right occupations of the Kshayatriyas ?

PR e Gk /2

Write any fwo limitations of inscriptional evidence.
ARTES #9 cAiEl- O Ricpiey 76! SeRmeE [{a Fel)
Why did Abul Fazal describe painting as magical art ?
501 T Tl e AR o | s | M s B B

What do you understand by ‘Kitabkhana’ ?

‘Fromamr e & 9@ 2

(k).
(0
(m1)

(1)

Name any two Sufi saints of Medieval India.

oI SISOTE R 7S bl S A% Gl
What were ‘zimma’ and ‘jizya’ ?

Who established the Vijaynagar Empire and when ?

Rom o9 ATIey (P SR (Froal dfov) SR ?

What were White Town and Black Town ?

e TR S e ol S 2

(0)

(p)

(q)

3.  Answer the following questions : (r;my ten)

Why did Mahatma Gandhi consider Hindustani to be the national

language of India ?

TR AR i) SReE AR Sl 29 =ital 3 [ [eawi SRk 2
Mention two women leaders of the Revolt of 1857.

st-ea Bwe Fealzs 79 @as A9 G

Who called for ‘Direct Action’ and which day was chosen for it ?
@ orE AT R TRRE 2 N IR ! T iz @i
C2fez ¢

4x10=40

s exprEe Ses il ¢ (Rl w2

(a)

32T HIST

Give a description of the town planning of the Harappan

Civilization.

N TR TR Sivhe @ free |

[5] Contd.



(®)

(c)

(@)

(e)

()

(g

()

(1)

7

32T HIST

Give a brief description of the administratiye system of the Ahoms.

ORI 27 %17 4ff 55 Rt

How could men and women acquire wealth according to

‘Manusmriti” ?
TS Ao, 3T W= AN GEE T Sizae TR #I1 2

Make a note on the social system seen in the Mahabharata.

TYCHOS (Wl (AR G Gz R &

Mention the causes of the rise of Magadha.

5K TR SRR e <4 |

Make a note on the teaching of the Buddha.

T2 el R aft Gt &

Discluss about the fortification of Vijaynagar.

fRermsiea of @sflel ST et <=1 |

Make a note on the sources to réconstruct the Sufi tradition.
B! SRR 2fo7pT Aeislion sTerz Racy «f Gt i

Who coined the terms ‘great’ and ‘little’ traditions and why ? What

do ‘great’ and ‘little’ traditions mean ? 1+3=4
TR’ IS Y AT GBI e (G S o R 2 TR O Y’
AT Vo126 q@IT 2

Discuss about the role of the zamindars in the Mughal period.

(9T J5TO TRMIPRRETR SRR (0 S5 < |

[6]

(k)

@D

(m)

(n)

(0)

(p)

32T HIST

How did the Paharias use the forests for their livelihood ?

i

ARTRPRE Gig I A SRR TS TIAT BT 2

What V\fefe the concerns that influenced the British in their town

planning in India in the 19th century ?
TR *fowie JoTee & & RepdR SRoe P ARSHTe dvl
K GIEEG

How did the Indians carry out the programme of the Quit India
Movement ?

ﬁwm@ﬁwmﬂawﬁﬁmaw@@aﬁﬁa?

What was Permanent Settlement ? Why did the zamindars fail to

meet the revenue de_mand ? |
WW%W?WT%WWWW%&W%
2 2

What do you mean by Oral Sources ? How does it help in writing
history of the partition of India ?

G Bt IR 3 @ oS Ko el A4S GRS T2

(S TR B °

Discuss the role of women in Mughal Royal family.
el AeHREETS AREPREE g o Scennl 1|

Contd.
[7]



4. Read the given passage carefully and answer the questions that follow :

6x3=18

S5 ADNIER SEMeE 26 9% eHERT Yes Wl 8

(a)

321 Hisy

Hotw could mien and women acquire wealth ?

For men, the Manusmriti declares, there are seven means of
acquiring wealth: inheritance, finding, purchase, conquest,
investment, work and acceptance of gifts from good people.

For women, there are six means of acquiring wealth : What was
given in front of the fire (marriage) or the bridal procession, or as a
token of affection, and what she got from her brother, mother or
father. She could also acquire wealth through any subsequent gift
and whatever her ‘affectionate’ husband might give her.

Questions :

(1)  What were the means of acquiring wealth for men and
women ? 4

(i) Do you think that means of acquiring wealth differentiated men
and women ? If so, how ? 2

AH3 S 212 [T THe e TR AN 2

TP 7P GG (o 0o R A5 T caEel SRR
(R0 2 3 TEAIIS] v, RoIiR ©2l Sapmie FR SRed, @, [fem,
ISR (A G 9 0! TS Sed 24 ¢ (R ) SfEe A SR
SR 7™, CISREN FE &l SHF FTAS FIZ TH-ee
ffen Toge, Po- o ©igs »[l @lig -Gl Wi, 289 TAR (Rar
I>) i ToR O TR TN & M FRie@is T 70w e @l
A

YT 2
() #fa= S TN & 7 SoiwnE T e o9 AiRRe 7 . 4

(i) 777 SIEF0E TAREIE 27T S AT 22 ez (61 Ofl ORI 2
3 M, (P ? )

18]

(b)

32T HIST

Or/ G2t

Language and Scripts :

Most Asokan inscriptions were in the Prakrit language while those in

the northwest of the subcontinent were in Aramaic and Greek. Most

. Prakrit inscriptions were written in the Brahmi script; however,

some, in the northwest, were written in Kharosthi. The Aramaic and

Greek scripts were used for inscriptions ‘in Afghanistan.

Questions :
(i) To which source of history do the inscription belong ? 1
(i) In which languages the Asokan inscriptions were written? 2
(ii}') What were the scripts used to inscribe the Asokan inscriptions ?
3
o3 I (el ¢
SR AS2ol6] IGIRERE] PO IME TP CeT-2iRose
S SifEE SRS S S5 | SRikEe 26 AbH @R AFETS TLTSIE
o5feTe ORIl | SRS dige & g eiEE B ke e ves-
SiR5SI%EETe D] WIYE TIR© (2%E | SIF e FiieERe SR
i e S @ CalfeeT |

EER S

i) i Eezm e v ¢ :

i) SR e 6 e o fore tefeE B

(iii) o FifPrRRe 6 & ot e 2 ¢ 3
[9] . Contd.



(c)

32T HIST

Land Revenue :
Cash or Kind
The Ain-i-Akbari on land revenue collection :

Let him (the Amil-guzar) not make it a practice of taking only in cash
but also in kind. The latter is effected several ways. First, Kankut in
Hindi language ‘kan’ signifies grain, and ‘kut’ estimates.... If any
doubts arise, the crops should be cut and estimated in three lots, the
good, the middling, and the inferior, and the hesitation removed.
Often too, the land taken by appraisement, gives a sufficiently
accurate return. Secondly, batai, also called bhaoli, the Crops are

reaped and stacked and divided by agreement in the presence of the

parties. But in this case several intelligent inspectors are required ;
otherwise, the evil minded and false are given to deception. Thirdly,
khetbatai, when they divide the fields after they are sown. Fourthly,
lang batai, after cutting the grains, they form it in heaps and divide
it among themselves, and each takes his share home and turns it to
profit.

Questions : _
(1) Who were the amil-guzars ?
(i) What was the medium of land revenue collection ? i

(i1i) What were the methods of collecting land revenue in kind ?
4

I e & Bl G 2P S & G AT TRATT (T - B S

S-SR SFe RN NGNCe2 AGEl IRz AFR 600 1N
SEGAC] A& FRAR FF GZICH! Biey, AR (@I=t (2rzl o9 By s
e TARIE ikelz 711 (et | ees, TS, ZiTe R ol 7 o
o o A fwetel 1. | R orae [l Sices SR Qe =5 i
oI fSHD! SIS ©fsl 1 T — Ofe, T4 SN {58 | 93 Fefemq ai) it
S 41 R | WS A0 S BT @2 3 =1 [l sRe @ a1 27, @3
qEIR AT AGH (RS RN FE | AORG! =5 oD 1 BleR), *7
5ColRIR DS FRER e S« Fif O pie S M Aers (o STEa
THHre Ol T W OB (FAS SR (RG] 59 AR eiie
77 | Tl SIS i Ol Tl (I ASe, N S QI | PRI,
Isreiz, 2ae I 9ia FivE Fve 0 (Fa Reem = w1 | veelts,

[10]

(d)

32T HIST

FH-ATOIZ, BJG *7] FOIF A6 73 I A S #6© (0GRS Ao ol
R | (oM SRR ST e efsee Feas Sl @ie e
S0 [ |

2T |
(1)  APET-SEe (P 2 : il
(i) o 2 e ey ol e 2 _ 1
(i) & & A=fos =P il 997 Mg I (2 2 4

_ Or/ E2/4]

Travels of the ‘Badsha Nama’ :

Gifting of precious manuscripts was an established diplomatic
custom under the Mughals. In emulation of this, the Nawab of
Awadh gifted the illustrated Badshah Nama to King George III in
1799. Since then it has been preserved in the English Royal
collections, now at Windsor Castle.

In 1994, conservation work required the bound manuscript to be
taken apart. This made it possible to exhibit the paintings, and in
1997 for the first time, the Badshah Nama paintings were shown in

exhibitions in New Delhi, London and Washington.

Questions :

(i) Who wrote the Badshah Nama and why ? 2

(i) Who gifted the Badshah Nama in 1799 and to whom ? Why did
he do so ? &

(iii) In which places the Badshah Nama paintings were exhibited ?
il

QTRIZ AT G 8

TR A SoRE REITT AN A P ebfEe Foeios A~
(i | Ot TP IR SRR I RETSS TG PO TGP S50 bIO
Aba AMPZ TNRE TR e ofeuiE Al G REeT ISR

FeIETHS, IO TRGRE IGEURITS, AR IR T (22| 58 5o

S IR Q@ R AR o2 T AmeE @RE | Gt
“Eie O ARRS 9 HaEF avF 9 A@ TS 02 #ARRE | S o
SHEE A Soea bae AR AN arR T 7, Aes wiw ifbGTe
sfel erefre evei a1 C2fZe | -

CEREEE

() R AN P, i o R 2 i 5
() Sand 5T GG, T S 6 QT T GO ffee 2 3
() A AR HaEE T T S (2R ? 1

Contd.
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(e)

32T HIST

“The real minorities are the masses of this country.” ;¢

Welcoming the Objective Resolution introduced by Jawaharlal
Nehru, N. G. Ranga said :

Sir, there is a lot of talk about minorities_.l Who are the real
minorities 2 Not the Hindus in the so-called Pakistan provinces, not
the Sikhs, not even the Muslims. No, the real minorities are the
masses of this country. These people are so depressed and oppressed
and suppresséd till now that they are not able to take advantage of
the ordinary civil rights. What is the position ? You go to the tribal
areas. According to law, their own traditional law, their tribal law,
their lands can not be alienated. Yet our merchants go there, and in
the so-called free market they are able to snatch their lands. Thus,
even though the law goes against this snatching away of their lands,
still the merchants are able to turn the tribal people into veritable
slaves by various kinds of bonds, and make them hereditary
bondslaves. Let us go to the ordinary villagers. There goes the
money-lender with his money and he is able to get the villagers in his
pocket. There is a landlord himself, the zamindar, and the
and there are various other people who are able to exploit these
poor villagers. There is no elementary education even among these
people. These are the real minorities that need protection and
assurance of protection. In order to give them the necessary

protection, we will need much more than this Resolution.

Questions :

(i) ~ Who are, according to N. G. Ranga, the real minorities ? 1
(i) Why are they the real minorities ? 3
(i) Why do they need protection ? ' 5

[12]
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5© FSANETLTRET 433 (T ST &

GRIEEEE e SRR Bl ST SBR0e SMEH SR G . [
[ETi2. (e |

‘Be, FRAETES [RAE 3ol TG e | g9 FRYETY. (B 2 OGRS
SARFEI AT o, R SIS RETReTl 72, 2FS TR
2 ISR SR | B NRRA GfoRiteT SRS S RS o
S i | (PRI AR ANIER SRk JRaRMe o=t FRaeE T
23, SR Ic¢ma~;q1 ? O GrGio SI%EECe (IR — SN0, (OSTEIR
g AT=iaee FE-<H, (S GHGIO SR, (OSERE Wb
SSERR ~al [y $R BN ERIE | 2P SIE MR @2 SeElfe
GEEPTIREE (5] Y IR SO (OSCEIe AD Bib T R W Tfre
(SSTER W FID R Sz Reid, s2ifHs @ARPRE SHersr
e Rie eoRE pfera @il @l @ 6398 7F fRoIE I92s
<R SirE, O R0 WA e qPRi eiee SRR afen i
ke G S5 Ae—9itel B 4G il (FIioRece (@ef® 5t o1 A
i1 ST GAFT TR (SSTEIR (Sr=iF fooRo IR 77 o7 | O Ty oS
(e, T SR S(CTRSIRE S0 (Tl (el SIS (ETTel e,
R @B Al AN CIEe R e (TR ©ite @3 NRREi
ot el e éem@m_ﬂamwmmw
A S TR (SRS SRR I R PR O @R
BB 920 (A7 FHAZR Tl

YT 8
g 1
() <. o SRAR S S AT, (P ¢
j 3
(ii) (OSENS [F2 &0 FRAETY *?
] 2
(i) (OSENTE [ FTFE e ?
Contd.
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Or/ F2/q]

From the mid eighteenth century, there was a new phase of change.
Commercial centers such as Surat, Masulipatanam and Dhaka, which
had grown in the seventeenth century, declined when trade shifted
to other places. As the British gradually acquired political control
after the Battle of Plassey in 1757, and the trade of the English East
India Company expanded, colonial port cities such as Madras,
Calcutta and Bombay rapidly emerged as the new economic capitals.
They also became centers of colonial administration and military
power. New buildings and institutions developed, and urban spaces
were ordered in new ways. New occupations developed and people
flocked to these colonial cities. By about 1800, they were the biggest
cities in terms of population.

Questions :

(1) ~ Why did the commercial centers decline which grew in the 17th
century ? 1

(11) What were the causes of the emergence of the new economic
capitals ? . ' 2

(1)) What were the characters of the newly emerged cities ? 3

SR (ol TereismeEl “iReSTa @b Tov # wEE e | T
NSy S 220 ZNIERS @S AL =SS 516 Tot pais, et
% DI WS ACCIT FarTey SRS wfbsl| saea baw Ao gaw
b7l AP GEEC VG Fge Sz SR | oy Taie 23
e (@I TR ANGT TR 16w | G3EET we) ST
@@%ﬁwmﬁiﬂﬂﬂw,aﬁwmwm%ﬂﬁmﬁﬁwwﬁ@
58 G H(be, 229 SARCIHR eI S A1k *ifera (et 1z o1t |

YA O TSI TS SR ST S5 51 S S Fora SR

T FA© XS IR (o 5| q T I oM S wime TR
TRITAPTIR(E Ve WG 2 D "0eT | Shoo b Site SRy e
&l GB(EIN SO JIG AN HAfee 24 |

AT &
() e o it GOl s arme 5 srefe s ¢ 1

(ii) o ST AT T FREE & 7 wnifes | 2

(iii) TG 9T (51 GO THTNPHR FARERER [ & e 2

[14]

()

Draw a map of India and identify the following places :
Guwahati, Delhi, Kolkata. _ 3+3=6

SRSRA G4 (7l S weTe [l IR Hiere < 2

@226, T, et |

(i1)

32T HIST

-Or/ @}’2@7.

Draw a map of India and locate any three important great
Mahajanapadas. 3+3=6

SeHE G (o S R o S2emens 24 bz 5 |

[15]
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1.  Choose the correct answer from th 1t i iy
e four alternatives given below: - (c) Which one of the following scholars introduced the concept of Human
1x4=4 : Development ? E

were at 5if95r R Tesq ol wm Tecs! 11 e - frefe R Sl +fs fiza
SETRIC FEE (NS SN [P AN o ?

(@) - In which of the following continents the growth rate of population is

highest ?
1 (i) Prof. Amartya Sen
OEH (I TS Sl Jiad 29 A8 2 _ _ S5L
(i) Europe
2T ' @ii) ~ Ellen C. Semple
(i) Africa | e fo. GF
SifEE " (iii) Dr. Mahabub-ul-Haq
(i11) South America ©° ﬂ'@ﬂ—@ﬁ—?ﬁ?
e SR
' : (iv) Ratzel
(iv) Asia : Silee
Qi i |
: ' : d) India’s population as per 2011 census is — 1
(b)) Which one of the following fi - : (

g figures represents th s p
of the population ? Bl presents the working age gmul; 305 5 (AREPEE SR SiReE] G T  —
RS @R e swerar w5 e e ke (ey028 ey
(1) 15 to 66 years - : S0Rb WO

SeT 7[F LY ‘
e (ii) 3287 million
(i) 15 to 65 years o3t o '
Se3 [ Ve TR ' '
(iii) 3182 million
(111) 18 to 64 years
; : v fAge
Svq o v8 T O AR DRI

(iv) 1210 million

s3v0 e

(1v) 15 to 59 years
S¢S 79 @> I8

32T GEOG '
[2] 32T GEOG [3] Contd.



2.  Answer very briefly : 1x4=4

—
S

RGO REEIR

(@ In how many categories the urban centres have been classified by

census of India ? ! ' 1
. OS] WWWRﬂW@%ﬂW%@WM?

(b) In Ind1a in between which months in English calender the Kharif
crops have been cultivated ? ) 1
SRee e W @S TG @ @F TE oo w1 =2

(c) Which type of energy sources are called sustainable energy sources ?

i
F 439 *ife T 9RO «ife U & ol =0

(d) What is agro-based industries ? 1

Tﬁw]"@ﬁ Sial 2
3.  Answer in brief : ' 2x10=20

5y Tes o

(a)  Write fwo hill districts of Assam. 2
SRTE 7¥A AReE fme S

(b) Which two places were connected by the first railway line in India?

' 2
SO (I 737 D12 (ANAACT (S5~ Tl w1 C2fze 2
(c) Give two examples of non-metalic minerals. ' )

32T GEOG

siyiofis 2 e smide 7o) Tz @@ |

[4]

(d Name fwo Iron and Steel plants in India set up during the Second
Five-Year Plan period. 2
frer seedifie ARTsml TeTe SRee A (Rl Wﬁ%@t@ﬁm
Rl

() Name two major industrial regions of India. 2
Siaeade 751 I Sl S wiE B

()  Which two places of India are connected by the National Waterways
No. 2 ? | 2

SigeT SR FER TEA @ 7 IR A TR

(g9 Name fwo major sea ports Jocated in western coast of the Bay of
Bengal. 2
WWWW%WW %o 7] 2 G IR A |

() Mention two main sources of air pollution. 2
Y R 7hY 2 BeA S 1 |

(i) Name fwo primary economic activities. 2
7R e Setaos e ar |

() Name fwo animal-based industries. 2
e SdifRe 79 SopieE A FE|

4 Answer the following questions in about 100 worpls : (any nine)
3x9=27
woe e fern Ued S00%| *%3 fowse Wl ¢ (e 7br)

(@) What do you understand by Planned Settlement ? 3
SRS T e € 3@l?

32T GEOG [5] Contd.



(b)

(©)

(d)

(e)

)

(g)

(h)

(1)

)

(k)

32T GEOG

Explain the importance of Rural-Urban population composition. 3

SisT-sIE O SefRE @w i |

Write the advantages and disadvantages of Air Transport System.

5
SIFTIAY GEE R i SERaRE B
Write the iﬁportance of Iron and Steel industries. | 3
(51 WIS S Srwla ST o |
Discuss the problems of water resources in India. : B
OO G~ VS IFATPRR. SISl <51 |
What do you understand by non-conventional energy sources ? 3
GRS *fe ST e & 3@
What do you understand by Mass Communication System ? 3
AR LICAIR] ~afs e & 3@

Mention the favourable geographical conditions found in Assam for

jute cultivation. 3

SPTS TRA (AR AR 2 S CSICANERe SREME e 1 |

Write the main characteristics of climatic seasons of Assam. 3
OIS GERIARE A9es R @RBETIE 5 |
Write a note on the tea industry of Assam. 3

SO BiE OIS 8RS @Bl (Bl &l |

Write the characteristics of the alluvial soils of Assam. 3

TSR el Wibe @FEETE

[6]

5. Answer the following questions : (any three) 1 5x3=15

oo Al epTEe el Al ¢ (R fofon)

(a) Explain the characteristics of the four pillars of human development.
| 5

S e BIRD wes AR e 4

(b) Explain the geographical factors influencing the distribution of
population. - 5

Gl e 2o CoIERl (oTailfere SRR TR0 <=1 |

() What do you understand by tourism industry ? Discuss the factors

affecting tourism industry. e 3=5
o5 TTiel I & @l 2 R SrmieTe 2ok RN 9 SRR Sl
4|

(d Draw an outline map of India and mark the location of the following
therein : 2+3=5
ST AR @AIE G2 AHG S 1 i OIS $o7e RIS TZ
m\‘?ﬁ : ' 5

(i) A sea portin the west coast
s{fRps ToigeTe 24 @bl ATV
(ii) A petroleum refinery

@B} e (SE NI

(iii) An iron and steel plant.

@51 (&7 BN Ol Tl |

32T GEOG [7]
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(a)

()

(c)

(d)

(e)

1)

(g)

()

(i)

()

32T LOPH

ive very short answers : | 1x12=12

wfs 53 Tes faa ¢

What is the ideal of Logic?
o S &

is the conclusion of Analogy certain ?

spepgaRe e F{eS 2

f
|

Give an example of Unscientific Induction.

szl S @ft Srzd T

On which Law is the Quantitative mark of a cause based ?

e ARweTe T [ HEE esive sifsfe 2

What was the hypothesis with the help of which the ‘Law of
Gravitation’ discovered ?

5 oo ST TS MR W(fe] T’y Sfke T4 (QRT?

What is the meaning of the Greek word ‘Ethos’ ?
M =% ‘Ethos’I 9 &2

What, according to Indian Philosophy, is the Supreme and Ultimate
end of human life ?

oo wiN TEil AT GREI 53 w7 A e 5o

Write the name of the Inductive Method which enables us to proceed
from cause to effect and effect to cause.

PR 1 T S IR 211 TR FelT FRT 217 MW = Seore s 772 |

Give an example of Secondary Quality.

SN @R @S SrreRe Wl |

Is Ethics a positive science ?

Tk iy Rem @
[2]



Who has defined religion in terms of value ?

wﬁﬁﬁvﬁimmw @I Wee?

Which theory of Truth does Naive Realism support ?
>4 TR OISR (PG TSAW AN IFF?

@

2. Give an example of Good Analogy. 2
STAPIREING Bl SreRd i | ‘
3. What is ‘Hypothesis concerning Agent’ ? 2

‘T RITS 48 FF QN2

4. Give an example of ‘Plurality of causes’. 2
AR FIRERMT <51 Srizae |
Or/ 7Zar
What do you mean by ‘Conjunction of causes’ ? 2
‘IR FEY e & oo
5. Explain the moral condition of observation. 2
TR (WS HOCB! I |
Or/ M2
State two advantages of simple observation. 2

Y e e 7ot Rl S 9

6. Give a concrete example of the Joint Method of Agreement and Difference.
2

fiia s HEEH AetieTs @61 AW Bz Tl |

7. Mention any two characteristics of Scientific Realism. 2

RIS AGRAME [epren 7o ey fdi)

32T LOPH [3] Contd.



hat do you mean by ‘moral obligation’ ?

‘ies ey’ e [ @ e
Or/ 7271

What is voluntary action ?

&t g o @iE e

9. Give a concrete example of Inverse variation.

Reftedl T2eiRadr 9ot arwa Swgaet |

10. Why is the idealism of Leibnitz called ‘Pluralistic Idealism’ ?
SIS SRS F ‘ITGRAM SRRAW (et 24 2
_ Or/ T2

‘Esse Est Percipi’ — What is the meaning of this statement ?

‘SfFg oiorF o’ — 3 AgR] 9 Fe

11. State fwo characteristics of Primary Quality.

PURGERORCRRT R

12.  What is ‘Working Hypothesis’ ?
‘PR o e
Or/ 723

What do you mean by ‘Vera Cause’ ?

aeeE IR e 5 e e

~ 13. Why is habitual action considered as an object of moral judgement ?

TreEe (F Wies SruReR Ranae 3@ o o9 w1 232

32T LOPH [4]
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Or/ 72
What is the meaning of ‘intention’ in Ethics ? ‘ 2

SRR ey oY e

14. What is induction? State two differences between deductioﬁ and
induction. R+2=4

S T (R0 2 O S SRR Wied 707~ S T
Or/ 7

Write any four characteristics of Unscientific Induction. 4

sraEifE QSRR Rl BIRer Tt B

15. State the advantages of Experiment. 4
ST R TR S T
Or/ e

What, according to Aristotle, are the different kinds of cause ? — Discuss
briefly. 4

QRYTER T© TN e (@201 & e — B oAl w9

16. Write any four characteristics of Naive Realism. 4

e BT R 5IRE @

17. Explain briefly the nature of ‘Monad’ as depicted by Leibnitz. 4
FiRafaE Fof SEEE THITY FRS HCF YT T
Or/ 7=t
What is the essence of Berkeley’s Subjective Idealism ? 4

AR Tgers oA T I e

32T LOPH {51 Contd.



_n":ie a brief note on non-moral action.
e T eolis @1 59 GBIl el

What is ‘Crucial instance’ ? Give an example of crucial instance obtained
2+2=4
by experiment.

53 72 €2 AR releT 59 BIaa b1 Bized fral |

20.  Write any four definitions of Religion. 4
s g bifas! ke
Or/ 23
Write four characteristics of Religion. 4
ifa sIEGr Catey o
21. What is ‘Practical imperfection’ of the Method of Agreement ? 4

oEd AqET ‘ARRIRS wedfel /e
Or/ 23t

Mention fwo advantages and tfwo disadvantages of the Method of
Difference. 2+ 2=4

JoCa! elleTd 75 FAfat o 757 oyl Srd 4 |

22. ‘ldealism is best expressed in Hegel's Objective Idealism.” — Explain
briefly. 4
‘(RO LTS OIRAM TS ©Iama 2)¢f epr qfore’ — GG A

2
[F5]

Distinguish between religion and morality. 4

¥ = ool wiem #iid [da @ |

Or/ Tzgar
"Morality is the source of religion’ — Discuss the view. 4

‘Tfowelg 451 Bt — 93 T SIEbl T4 |

32T LOPH [6]



25.

26.

27.

hat is Scientific Induction ? Mention the characteristics of Scientific

Induction. 2+4=6
@RS S I @I ? I SR ARy TR S

Or/ A2 ‘
Define Analogy with an example. Mention its characteristics. 3¥3=6

<51 TR ﬂiWﬁWﬁi@ﬁ?ﬁlﬂiﬁﬁWWﬂW%ﬂWl

Write a note on 'Paradox of Induction’. 6
‘R REICer’S 8o @it Gt T |

Or/ 729
What do you mean by Experiment ? Describe its characteristics. |

1+5=6

s oA [ 3@ 2 AR WY R S 9
What are the stages of Hypothesis ? — Explain with examples. 6
e B (IR0l o Trird i it =4

Or/ w23
What are the conditions of a legitimate or valid hypothesis ? Explain any
two of them. 2+4=6

@y el 56 Mg & [ e W@a awws R g5 58 jin 1|

Define the Method of Agreement with concrete examples. State two
advantages of this method. 54942=6

BN — k- R ETEEE E A SL RS R
Or/ 72t

Define the Method of Residues with examples. State two disadvantages of
this method. ‘ 242+2=6

Wﬁﬂiﬂﬁmﬁmﬁam@tﬁmaﬁm@ﬁ 751 SRl BrEd |

X

32T LOPH {71
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(b)

(©)

()

@

(®

(h)

(1)

9

32T SOCI

What do y-ou mean by fertility rate ?

G el Al T *ifes 29 I 7 qae

Who is Yangkoli ?

2T (Pl ?

Choose the correct one :

w7 U] b Ofened ¢
‘Social stratification, social process is a system /a process.
Wﬁﬁﬁéﬁ%mﬁﬂ’@ﬁwwvﬁ%/w elfem |
What do you mean by eﬁteriqr caste ? |

<o @i e @i

Who mentioned that Harijans are the ‘Man of God’ ?
&I 2R_E TS ST R I S ?Fﬁf@ﬁ'

Who first used the term ‘Dalit’ ?
WETS” =B AT (I I TR 2

Who wrote the book ‘Stree Purush Tulana’ ?
El 77 E??FH %3 (@i TiRfee

What do you mean by social action ?
e s I & g

Where is the birth place of democracy ?

NTOZT TR F©?

Write the name of the novelist of the novel “Invisible Man”.

“Invisible Man” TS SoATIFHE G111 720 |

[2]

(k) What is colonialism ? 1
SR &2
() What is ‘Tebhenga’ ? : : 1
coreal’ 2
2. Express the meaning of the types of demography. ' 1+1=2
SR e il 2o ol e =1
3. Mention two importance of kinship system in society. 1+1=2
G HEH SR 7hl ¢Fg GrEd 9
4. Why inequality, exclusion and stratification is c?alled ‘Social’ ? 2
SETTel, R Ui SRR R AN i ot 2w
5. What do you mean by commodification ? Write with examples. 1+1=2
el 1 TR e S el e TnreEepiR o
6. What ;io you mean by Prejudice ? Write with examples. E1=2
e Al ffeR «=elt JEICE 1 e e SRR
7. Mention fwo typesbof mass media. . 1+1=2
GEPIREAIS! AR 757 A SE 1
8 Where and when the Naxalist moxfeﬁe11t_ took place ? 1+1=2

T I (ol ?Fmﬁ?lﬁ ST A0S (225 2

9.  Mention two remedlal measures of Indian Constitution for development of

1+1=2
Dalits. |
SRS ARG WS TR A SSRGIAl 75) SHTere R4l S 4 |
10. Write the types of culture with examples. : 1+1=2
o7 S0 TP forit | |

32T SOCI [3] Contd.



15
lowest population density, according to 2011 census ?  ° 1+1=2
5055 bad (AR o, Ceadiwea @i Ao MEe 77 Sfite wi
AR O TR TG I 2 '
12. What do you mean by ‘status symbol’ ? Write with examples. 1+1=2
‘@if¥fe Bz 3 & @i 2 TuremE @i |
13. What are the two types of social class as mentioned by Karl Marx ?
14:1=2
e e S [N AN @9 757 5 Fe
14. (@) What is demography? Write the main principle of Malthus .
demographic theory. 1+3=4
SRR e {2 e72ies el ©gs o1 ol &l
Or /4l
(b)  Write a note on Indian Family Planning programme. 4
SIS A AR S AwiFe @bl (Gt il |
15. (@) Write the principal characteristics of Indian caste system. 4
SRS TifSaRzZR e ERrEE |
Or/ 3t
(b) Justify capitalism as a social process. | 4
sfferams AmifEs afem= o [l <=
16. (a) Mention two merits and demerits of globalization. 7+2=4
CIFTERFCR 707 eSS 75/ FeroR Brad
Or/ 3
(b) Write with examples the forms of social stratification. 2+2=4
TiZaE AT o <
2 ARMETETTR 7071 <25 STl fape |
32T soct

In which State of NE, has the highest literacy rate and which State has the

{41

17. (a)
(®)
18. (a)
(b)
19. (a)
()
20. (a)
(b)
32T SOCI

Write a short note on the constitutional provision for welfare of the
minorities in India. - 4

SRS FLRIETY T I A AR (TR I A= bl HCoI
GEll "
Or/ <1

What is Secularism ? What are the characteristics of secular society ?
1+3=4

R R Ao e R B R

Mention fwo merits and demerits of British colonialism in India.

242=4
W@ﬁﬁ%ﬁﬁwﬁmﬁ zﬁ‘rﬁmw 75 Feo GrE 4 |
| Or/d
Write the differences between culture and civilization. ' 4
7 i FTOR e A |
2+2=4

Mention the merits and demerits of democracy.
siefoEs AR S SRRl Ty T |
Or/ <l

What is Pressure group ? Write the characteristics of pressure group.
: 1+3=4

o] e deRTaPR @FEER &

Write a note on Swaraj Movement of India. 4
SO FIIC SCHIETHR T>E0 @b (Gl 7|
’ Or/ 3l
Mention four causes of ethnic identity crisis. +
TONT PR SSHAfREH FF6S 51fF0! FiRe TeaAd 4l |
[5] ’ Contd.



' 21. (@) Mention the principle's' of liberaltzatfon. . 4
iR ATRSER . . e
_ | Or/d | o
(b) Mention the merits and’ demeriis'of‘telev'ision as a mass metlia 4
WﬁWWMﬂW%WWWWWWﬂWI
22. }' (@) Write short. note on ’Chlpko Movement'. B o 4
o’ S oS SOOI ﬁ-ﬁm |
Or/ ?f | , I
(®) Show the difference between caste and social class , o 4
e o ANRE T TwS sy et |
23. Mention four factors for disorganisation of 'joint famiily 1n India. = - .4

W@mﬁﬁﬂmﬁw WWWWI

What are the roles of population in changing society ? D1scuss 6

‘Wﬂﬁaﬁew\mgﬁmﬁwwwl

Or/?‘n‘

Write about the constitutional measures of Government of India for

~ solving the problems of scheduled caste. ' 6

24. ()

(®)
25. (a)
32T SOCI
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JIFRENL T o

What are the types of rural soc1ety ? Discuss the changmg pattern of '

rural society of India. 24+4=6

ATy e S (5 R 52 SIS Ay IS ol AR I
A 4|

(6]

®)

Or/?T

| What is Sanskritization ? ? Discuss the 1mpact of Sanskntlzatlon in ,

Indlan society. . :  1+45=6

"ﬂ\WQﬁWﬁWﬂW%WWWWI

®
27. (n)

Discuss about birth and development of cinema as a mass media.

Wute briefly about Panchayatl Raj system of Indla R 6

2 ﬁaam@w Y AICE R T ‘
o Cora

What is culture ? Write about the elements of culture. '1+5=6
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Cor

What do you, mean by Soélal Movement ? Write about the types of

social movement: 2+4=6
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